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Yearl S%mester I
SEMESTER ENQ EXAMINATION

Principles of Management &"r Economics Practice - G51101

|
e There are EIGHT (08) questions in this paper.

e This paper contains six (06) pages. |

e Excluding the Compulsory question-answer any four (04) questions.

¢ You may use appropriate graphs, diagrams, equation/s to prove or justify the answers.

e Ifyou have any doubt as to the interpretation of the wording of a question, make your
own decision, but clearly state it on the ﬂcript:.

Date: 2021.04.23 | ' Time: 03 Hour

Question 01: (Compulsory) |‘ (20 Marks)
| [

‘ |
Answer all multiple-choice questions below. There may be more than one correct

answer. \ ‘
|

1) Managers may perform specific behavior or actions depending on person and
situation called the role. | 1
(i) Mintzberg identified 3 roles : Inter-personnel, informational and
decisional |
(if) Decisional role relates to lower Management
(iii) Decisional role relates to Top Management
(iv) Interpersonal role is better for a spokesman
| (02 Marks)
2) Management is: |
() Anartof controlling people
(ii) Is a process of planning, organizing, leading and controlling
(iii) Is a process of organizing, pl g, controlling and leading
(iv) Is an activity of moving up tkalmployment hierarchy |
\ (02 Marks)

| Page 1 of 6




(..f eC

PUS

|
CINEC Campus
Faculty of Engineering and Technology
Department of Information Technology
BSc (Hons) in Software Engineering
IT_UGC_00V/IT|IFLS 001
|

—— :
3) Select the correct statements about Orgamzatlonal environment

(i) Both customers and Governmentl\ are part of the Micro environment

(i) Political and technological envirT\ments are considered as macro factors

(iii) Goals and leadership are external environment factors
(iv) Micro environment is also calledﬂthe Task environment

| | (03 Marks)

4) Briefly discuss habits of highly reliab]le organizations in decisio?n making
(i) Are not tricked by their success. |‘ |

(ii) Lose decision-making ob]ectlvn'y by focusing on the most, recent events.

(iii) Creates unfounded meaning ouﬁ: of random events. |

(iv) Defer to the experts on the front line. |

| (02 Marks)

5) Identify correct statement (s) about functions in a Business:
(i) A business can survive with ﬁinance and R&D in the long run
(i) A stable business can have only the HR, Marketing, sales and Finance
(iii) R &D is not a compulsory fuxﬁction for the business continuation
(iv) Marketing and sales are totalﬁy separate activities in a tnodern business
| I‘ (02 Marks)
| |
6) Choose What is right about Efficierjcy and effectiveness |
(i) Effectiveness focus on resou'}'ce usage .
(if) Effectiveness is about high qchievement of goals
(iii) Wastage of resources is a Slgn of low efficiency
(iv) Management should aim fo¥ high efficiency and low effechveness

| | (02 Marks)
| |
7) Strong understanding of External Factors is compulsory for a manager. Select
incorrect statements (s) |
(i) External factors can also be grouped as General Industry and
Competitor | .
(i) Macro External factors are also same as General factors
(iii) General factors are further described by PESTEL |

(iv) Both Macro and Micro envllronments are regrouped as General,

Industry and Competitor | (02 Marks)

| , Page 2 of 6
\
[
\
|

o,
/1

«



cﬁ'#ﬁfi | .
Dy zvd f Gadanw i J]IJE.).LG‘

CINEC Campus i
Faculty of Engineering and Technology
Department of Informati}n Technology
BSc (Hons) in Software Engineering
IT_UGC_00V/IT_IFLS_001

8) Which statement is correct for nominal GDP? |

i. Nominal GDP is calculated based on current prices.
ii. Nominal GDP is calculated based on the base prices.
iii. Data on Nominal GDP shows an accurate picture of the économy as
compared to real GDP. |
(i) Only ii, iii | |
(i) onlyii | |
(iii) onlyi | |

(iv) i, iii |

9) Real GDP is a measure of a country's... |
(i) Wealth. ‘
(i) Money.

(iif) Economic transactions.
(iv) Physical output. ‘ |

| |

| |

Question 02 | (20 Marks)
\

(02 Marks)

a) Identify the most vital element suppor%ve for Decision making and describe
its main characteristics | (04 Marks)

b) Level of planning involved within the hamgement hierarchy of an
organization varies according to planning type.

|
’ Strategic ‘ Top Executives I
: b Planning " | |
e ' V'F:- S | Middle Level Managers
Operational 1 : T
ey ‘L First Level Managers |
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(i) Draw the best shape to represent i|nvolvement of Operational Planning from
First-Level to top-Executives. |‘ | (04 Marks)
|
(ii) Write a brief description on the level of involvement of both Strategic and
Operational planning between the 3 levels of Managernent Identify an

example for each. | I (12 Marks)
|
\
. | I
Question 03 | (20 Marks)
| .
Top management of a business organization must consider larger market share and growth |

rate when developing business strategy. Cash cows and Stars are the preferred corporate
profiles anticipated by Managers. Yet a business can end-up with profiles different from above
based on anticipated growth rate and Market éhare

(i) Draw a suitable Matrix to show all po#lbﬂmes considering anticipated growth rate
and Market share. ‘ (05 Marks)

(ii) Describe each of the profiles identified #1 the matrix with an exarnpk from Sri Lankan

or global business organisations. | - (12 Marks)
‘ |
| |
(iii) Identify three (03) types of corporate strategies (03 Marks)
| |
|
|
y | |
Question 04 | (20 Marks) ()
| |
a) Identify and describe main functions Ff Human Resource Management.
| ' (06 Marks)
b) Briefly describe two (02) of the prima#y environmental factors affectmg

Human Resource Management in Srl\Lanka with examples (04 Marks)

c) Briefly discuss three (03) selection devlgces of your choice ranking them as per
their importance. Mention why they are important as well. (06 Marks)

|
d) Explain the importance of De-recruitn*ent and Exit interviews | (04 Marks)

Page 4 of 6
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Question 05 | (20 Marks)

A research shows that only 38% of people like|‘t0 leave their comfort zone.iWhen these people
are presented with a change, they think that it is exiting. Those positive interpretations of
change result in positive emotional reactions, :*uch as happiness and satisf?ction, which result
in greater employee productivity. |

|
The other 62%, however, look at that same exact statement and immediately feel fear and
discomfort. They may think, "Oh great, this ge will have an effect on my career growth."
or "I will not do what I like doing any more." ar “Will they keep me in?”.

\ ‘
| |
Provide a critical discussion identify types of changes, forces of changes and the Calm waters
metaphor. \ ‘.

Question 06 ‘| - (20 Marks)

a) When scarce resources are used, actq‘rs are forced to make choices that have an
opportunity cost. \|

(i) Describe the term “Scarcity” and img‘ortance of Trade-offs. | (05 Marks)

\ ‘
(ii) In business, cost of a product or servl‘ice may include the loss d‘f opportunity.
Describe this concept in economic tefms. (04 Marks)

| |
b) A country’s economic system is made up of institutions and decision-making

structures that determine economic a&|:tivity

‘ |
(i) Identify major economic systems operating in the world . (04 Marks)
\
(i) Identify and discuss the most basic et#onornic system from above highlighting
it's advantages | (07 Marks)
\
|
\
i
\
|
\
|
\
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Question 07 | (20 Marks)

| [

Primary goal of central banks is to provide their countries' currencies with price stability by
controlling inflation. A central bank also acts as the regulatory authc#rity of a country's
monetary policy and is the sole provider and printer of notes and coins *n circulation. Time
has proved that the central bank can beﬂt function in these capacities by remaining
independent from government fiscal policy and therefore uninfluenced by the political
concerns of any regime. A central bank should also be completely dlvested of any commercial
banking interests. |

2
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Write a brief essay of maximum 300 words 01]1 the Central Bank of Sri Lanka highlighting its
key roles, functions and importance. | |

Question 08 | (20 Marks)

|
a) Differentiate Micro and Macro Ecor*omics with examples | (10 Marks)

b) Economics two theories which are skruggling to meet with an Equilibrium
} ‘
(i) Identify the economic term that describe the inability to supply goods at the
currently demanded price and limil|ced availability of resources. (03 Marks)
(if) Which economic term describes lirr*ited availability of resources? Describe its
economy law in one sentence | | (03 Marks)

|
(iii) Describe law of Demand briefly. | | (04 Marks)

\
|
END OF THEIQ!IESITON PAPER
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Year 1 %emester I
SEMESTER ENIP EXAMINATION

Principles of Management 4%: Economics Practice - GS1101

|
e There are EIGHT (08) questions in this. paper.
e This paper contains six (06) pages. \
e Excluding the Compulsory question-answer any four (04) questions.
o ° You may use appropriate graphs, diagrams, equation/s to prove or justify the answers.
N e Ifyouhave any doubt as to the interpretation of the wording of a question, make your
own decision, but clearly state it on the script. |
| |
Date: 2021.12.17 | . Time: 03 Hour

Question 01: (Compulsory) | . (20 Marks)

Answer all multiple-choice questions belJ_)w. There may be more than one correct

answer. ‘|

1) Businesses have common funct10na1‘| areas and resources. Wh1ch of following
are incorrect statement? \
. (i) Marketing is compulsory function for any Business
(ii) Human Resource is the most valuable for most organizai‘ions
(iii) Finance, Marketing, Warehouse and Sales are key functions
(iv) Design and development of services is not part of Production function
% . (02 Marks)
2) Core Concepts of Management is a notion or an idea, and in this context it
refers to the key terms used to define and understand what management is.
Incorrect statements are: | |
(i) Efficiency means doing the righlthing
(ii) Effectiveness means the ability to determine appropriate pbjectives
(iii) Effectiveness means doing the right thing |
(iv) Efficiency refers to Getting the most output from the least amount of

inputs | (02 Marks)

\ Page 1 of 6
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3) Select the incorrect statements funictions of Management
(i) Choosing appropriate organizational goals and courses of action to best
achieve those goals is called planning
(ii) Controlling refers to establishing task and authority relationships that
allow people to work together to achieve organisation’s goals
(iii) Motivation, coordination and energizing HR to work together and
achieve goals is the leadershi 1
(iv) Establishing accurate measuring and monitoring systems is not a part of
controlling function.

! (02 Marks) N
4) Traditional Management level pyramid is still applicable for modern
organistions. Correct statements are: |
(i) Middle managers operate on top of first line managers
(ii) Supervisor, shift managers and department manages are middle level
management.
(iii) Executive vice president is a top level manager.
(iv) Top level management are responsible for planning effecting the entire

organisation.
(02 Marks)

5) Identify incorrect statement (s) about functions in a Business:

() A business can survive with finance and R&D in the long run

(i) A stable business can have only the Marketing and Finance .
(iii) R &D is a compulsory function for the business continuation
(iv) Marketing and sales are inter-related activities in a rnfdern business

(02 Marks)

6) Choose What is not right about Efficiency and effectiveness
(i)  Efficiency focus on goal achievement ‘
(ii) Effectiveness focus on resource usage
(iii) Effectiveness is about low achievement of goals
(iv) Wastage of resources is a sign of low efficiency
(v) Management should aim for high efficiency and low éffectiveness

| (02 Marks)

[ Page 2 of 6
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|
7) Strong understanding of External Factors is compulsory for a manager. Select
correct statements (s) | |
(i) Macro External factors are also same as General factors|
(ii) External factors can also be grouped as General, Industry and
Competitor | |
(iii) General factors are further described by PESTEL |
(iv) Both Macro and Micro enviror?ments are regrouped as @eneral,
Industry and Competitor ‘

(v) Industry environment is an external factor group |
\ (02 Marks)
| |
8) Inflation refers to Increase in average‘ Price Level of all goods and services.
Which statements are incorrect? |
i. Inflation causes decline in Purchasing power of the Currency.
ii. Demand-pull and Cost-push are 2 types of Inflation. |
iii. Inflation does not leave any winners. '
iv. Savers will become losers ‘during inflation.
(i) Only i, i |
(ii) only ii |
(iif) only i | |
(iv) iii and iv | |
| ' (02 Marks)
|
) 9) Central Bank is a vital component of the Economy and Monetary system of the
Country. Select the correct statement (s) i
(i) Reserve requirement and Interest rate on Bank reserves is the key factor

e

.!‘“‘_ b

. |

effecting savings and loans.

(ii) Open Market operations is tool of the Private Sector Businesses to control the

economy. | ‘

(iii) Full employment is not a part of Fiscal Policy
(iv) Price Stability is a part of Fiscal Pc;Llicy ‘
(v) Debt and Deficit both refers to Gok’ernment dues
| (02 Marks)
|
| |
10) GDP is the primary tool to measure E¢onomic Growth of a Country. Select
correct statement(s) | |
(i) Considers value of all items praduced by the people of the Country.

(ii) It considers only the new items‘produced within the current year
‘ ' Page 3 of 6
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| |
(iii) Intermediate goods are a*so considered in the calculation.
(iv) Nominal GDP uses curre#nt prices to determine market value

(v) China recorded the highest GDP growth in the firs* quarter of 2021
| | (02 Marks)

Question 02 | (20 Marks)
| |
‘l |
(a) Describe the difference between E*ternal and Internal Environment of a
Business Organisation in detail. || 1 (10 Marks)
|

| .
(b) A careful analysis of organizational' environment is necessar)‘r to diagnose
SWOT (Strengths, Weaknesses, Opgortumtles and Threats). Select a popular

Business organisation in Sri Lanka Hnown to you and prov1dé a brief SWOT

analysis. ‘l '
‘| | (10 Marks)
| |

Question 03 | " (20 Marks)

|
Decision making involves Identifying a proﬁvlem and decision criterial and allocating
weights to the criteria, Developing, analyzmg and selecting an altern@tlve that can

resolve the problem and Implementing the s?lected alternative.

(i) Think of a regular and common probﬂern or recent issue that happenned in

your surrounding. List and brief the 8\steps of Decision rnakmg using the
event you identified as an example. l\

| | (16 Marks)
‘ |

(ii) List 2 types of Decision making conditions . (04 Marks)

\ | Pagedofé
|
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Question 04 ‘l (20 Marks)
a) List and describe 3 types of Goals || ". (06 Marks)
) Write a short note not exceeding SOq words on types of Plans | (04 Marks)
c) Explain what MBO means and provl}ide an example I. (04 Marks)
d) Briefly explain how Strategic and Oﬁ‘erational planning differé‘;. Link them to
levels of Management '\l I. (06 Marks)
( . | |
- Question 05 | (20 Marks)
a) Strategic Management involves Corqorate and Growth strateg'lies. Describe
them in brief considering their main sub types . (10 Marks)
b) Briefly explain the role of Competitiv‘l‘e advantage and its importance for a
| .
successful business. ‘l (05 Marks)
c) List the competitive Forces "‘ (05 Marks)
| |
Question 06 || (20 Marks)
‘l‘ |
0O a) Write a summary of Assessment consﬂderatlons for Human Redources ina

business organisation. Job Descrlptlorﬂ and Job Specification are just 2 of them
‘I ‘. (05 Marks)

| |
b) List and describe 3 factors effecting staffing of an organization (06 Marks)
| |
| |
I

¢) E-recruitment is a popular form of fmdmg HR for modern orgamsat1ons

Write a short note about its advantageq and disadvantages. L (04 Marks)
| |
d) List the stages of Team Development | (05 Marks)
|‘|
| |
| |
|
|
|
!
\

| | Page5o0f6



CINEC Campus
Faculty of Engineering and Technology |
Department of Information Technology |
BSc (Hons) in Software Engineering
IT_UGC|001/IT_IFLS 001 ‘

Question 07 (20 Marks)

a) Briefly explain the law of Supply and Demand in Economics. Draw any

diagrams if necessary. ‘ (06 Marks)

b) Incentives are a main factor thn people make decisions. Explain briefly

‘ (05 Marks)

with an example.
¢) Explain the term ‘market’ in ecotomic terms. (05 Marks)
d) Mention 2 economic principles that effect interaction of plople with markets
‘ (04 Marks)
Question 08 ‘ (20 Marks)
a) List the 2 types of economic systeLns ‘ (04 Marks)
b) Briefly explain the difference between real world economfes and the above 4
standard types . (04 Marks)
¢) Briefly describe the term ‘Scarcity’ and list its 4 main factorr, (06 Marks)
d) List and briefly describe 3 factors of Production (06 Marks)
|
——— END OF TFE QUESTION PAPER ‘
! Page 6 of 6
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Year 1 Semester |
\

SEMESTER END EXAMINATION

Computer Organization & Architecture - IT1102
| s |

e There are EIGHT (08) questions in this éaper.

e This paper contains three (03) pages. | .

¢ Excluding the Compulsory question-answer any four (04) questions.

e You may use appropriate graphs, diagrams, equation/s to prove or justify the answers.

¢ If you have any doubt as to the interpretaﬁon of the wording of a question, make your
own decision, but clearly state it on the script. '

Date: 2021.12.20 Time: 03 Hour

q CINEC %
inybbl M’} 00

Question 01: (Compulsory) | (20 Marks)
! |
With an example, explain Distributive law |

Question 02 | (20 Marks)

(@)  What is a Flag Register and explain t|l1e use of it? (10 Marks)
(b) How is Assembly Language different from a Machine Langualge? (10 Marks)
|
|
Question 03 | (20 Marks)
| [
|

(@) How is Commutative Law different from Association Law? Explain with an

example | (10 Marks)
|
-(b)  Explain how the Accumulator Registér is different from the program counter?
| | (10 Marks)
|
| Page1of3
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Question 04 (20 Marks)

(a)  Explain the Fetch, Decode, Execute operation with diagrams |

(10 Marks)

(b)  Briefly discuss Harvard Architecture | (10 Marks)

: ®
Question 05 (20 Marks)
(@)  How are Synchronous Circuits different from Asynchronous Circuits? Explain

with an example | (10 Marks)
(b)  How is Shift Register different from|Storage Register? Explain in detail

‘ (10 Marks)

Question 06 (20 Marks)

(@)  Is Duty Cycle the same as the Pulse %idth? If different, explain with diagrams

- (10 Marks) -
(b)  Compare and contrast differences between JK and T Flip Flop%s
(10 Marks)
|
Question 07 (20 Marks)
|
(@)  Explain the operation of “K-Map” with an example (10 Marks)
|
(b)  “A Computer performs complex decompression and displays billions of
outputs”. Explain the statement in detail (10 Marks)
Page 2 of 3
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Question 08

(20 Marks)

(@) “ACC.MAR, MDR and IR” are some registers operating in a computer. Explain

the given registers in detail.

(b)  Explain System Buses in detail

END OF THE QUESTION PAPER

(10 Marks)

(10 Marks)
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Yearl Sern ster I

SEMESTER END MINATION

Computer Organization & Architecture - IT1102

o There are EIGHT (08) questions in this paper.
o This paper contains three (03) pages. L

¢ Excluding the Compulsory question-answer any four (04) questions.
e You may use appropriate graphs, diagrams, equation/s to prove or justify the answers.
e If you have any doubt as to the interpretation of the wording of a question, make your

own decision, but clearly state it on the scrirt.

Date: 2021.04.22 Time: 03 Hour
Question 01: (Compulsory) (20 Marks)
Explain every status of a “flag” in a register with a diagram
Question 02 (20 Marks)
(a)  Explain the difference between ”Assen+bly Language” and “High Level

Language”. (10 Marks)
(b)  “A Computer performs complex decompressmn and displays billions of
outputs”. Explain the statement in detail (10 Marks)
Pagelof3
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Question 03 | “ (20 Marks)

(@) “ACC.MAR,MDRand IR" are some registers operating in a computer Explain

the given registers in detail ‘| | (10 Marks)
(b)  Explain System Buses in detail | | (10 Marks)
‘ |
[
|
| |
Question 04 ! . (20 Marks)

!
(a) Explain “Von- Neumann” and "Halrvard” Computer Architectures.

| (10 Marks)
| |
(b)  Explain “Persistent Memory” in dq‘tail (10 Marks)
|
|
|
|
| |
Question 05 |‘ (20 Marks)
|
(@)  Explain “SISO, SIPO, PISO, and PI]#O" in details (10 Marks)
|
(b) How is “Sine Wave Oscillator” diffﬁrent from “Square Wave Oscillator"
| (10 Marks)
|
|
Question 06 | (20 Marks)

(a) "Synchronous and” Asyru:hronous| are two different circuits. Explain both

circuits in detail | (10 Marks)
(b)  Explain the diagram along with ”Voitage, Amplitude, Frequency Wavelength,

Phase and Time” | (10 Marks)

| ‘

|

|

|

l‘ Page2 of 3
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I
WFJ- ’l
Ampiihude :
! | f /.
| VANV
| \
X Frequency ‘l Phase 50 .
| ‘
|
|
|
|
Question 07 ‘| (20 Marks)
| ‘
|
|
(@) Compare “Duty Cycle, Frequency, anqi Pulse Width” (10 Marks)
| ‘
(b)  Explain the “types of Counters” and hdl,)w it operates. (10 Marks)
‘ ‘
|
|
| |
Question 08 ‘| (20 Marks)

(@) How is “NAND Gate SR Flip Flop” dxfferent from “NOR Gate SR Flip Flop”

| (10 Marks)
\
(b)  Explain the operation of “K-Map” with lhn example ‘(10 Marks)
|
|
'\
|
I
|
\
|
I
|
‘|
|
l'
END OF THE QlﬂlESTION PAPER-------==snmma==
I|
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Yearl Sen'rllester |
SEMESTER END EXAMINATION

General English - GS1103
There are EIGHT (08) questions in this paper.

This paper contains TWELVE (12) pages. ‘|
Students should provide answers to all the; quesuons
You may use appropriate graphs, diagrams, Cquatlon/s to prove or justify the answers.

e If you have any doubt as to the mterpretatldn of the wording of a question, make your
own decision, but clearly state it on the scnPt

Date: 2021.04.23 I‘ Time: 03 Hour
'\
Question 01 '\
|

Read the passage and answer the questions below. (15 Marks)

1. The average computer user has between 5 and 15 username/ password combinations to
log in to email accounts, social networkir{lg sites, discussion boards, news and

| |
entertainment sites, online stores, online banking accounts, or other websites. For people

| .

who use email or other internet applicatidns at work, the number of required
\

|
username/ password combinations may surpass 30. Some of these accounts demand that
|

you use a specific number of symbols and digits,ﬂ while others require you to change your
| |

password every 60 days. When you add to this I‘i‘st the codes needed to access things like

|

ATMs, home alarm systems, padlocks, or voicemail, the number of passwords become
| ‘

staggering. The feeling of frustration that resultl-‘.si from maintaining a memorized list of
| |
login credentials has grown so prevalent that it actually has a name: password fatigue.

\ Page 10of 12
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2. Having to remember so many different |‘passwords is irritating, but it can also be

dangerous. Because it is virtually impossibl!g to remember a unique password for each of

|
these accounts, many people leave handwr*tten lists of usernames and passwords on or

next to their computers. Others solve this pr‘pblem by using the same password for every
\
account or using extremely simple passwo‘ids. While these practices make it easier to

| |
remember login information, they also make it exponentially easier for thieves to hack into
|
\
|

accounts.

\
. Single sign-on (SSO) authentication and password management software can help
\

mitigate this problem, but there are drawba\cks to both approaches. SSO authentication
|
can be used for related, but independent softvare systems. With SSO, users log in once to

access a variety of different applications. Use#rs only need to remember one password to

\

log in to the main system; the SSO software then automatically logs the user in to other
‘ |

accounts within the system. SSO software is #ypically used by large companies, schools,

|
or libraries. \
[

Password management software, such as KeePass and Password Safe, is most often used

\
on personal computers. These software programs—which have been built into many
\
|
\
|
“remember” users’ passwords for a variety of sites. The problem with both SSO

|

authentication and password management so*'tware is that the feature that makes them

major web browsers—store passwords in a remote database and automatically

\

useful is also what makes them vulnerable. If a user loses or forgets the password required
\

to log in to SSO software, the user will then los*e access to all of the applications linked to

|
the SSO account. Furthermore, if a hacker can crack the SSO password, he or she will then
|
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|
|

have access to all of the linked accounts. Users who rely on password management
|
|

software are susceptible to the same problems, but they also incur the added threat of
| .
|

passwords being compromised because of computer theft. Although most websites or
i !
|

network systems allow users to recover or change lost passwords by providing email
| .
|

addresses or answering a prompt, this process can waste time and cause further
|

|
frustration. What is more, recovering a forgotten password is only a temporary solution;
|

it does not address the larger problem of pass“word fatigue.
|

\
. Some computer scientists have suggested that instead of passwords, computers rely on
|

biometrics. This is a method of recognizing hl‘\lman users based on unique traits, such as
fingerprints, voice, or DNA. Biometric idlgntiﬁcation is currently used by some
government agencies and private companies, Iincluding the Department of.'Defense and
Disney World. While biometrics would cerlfailﬂy eliminate the need for people to
remember passwords, the use of biometrics raltises ethical questions concerijing privacy
and can also be expensive to implement. The Iproblems associated with SSO, password
management software, and biometrics continlue to stimulate software engineers and
computer security experts to search for the cur; to password fatigue. Until ﬁ1ey find the
perfect solution, however, everyone will simpliy have to rely on the ﬂaweﬂ password

system currently in place. |
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|

1. According to the passage, what s &neant by “password fatigué”? (2 Marks)
‘ |
| .

--------------------------------------------------------------------------------

------------------------------------------------------

| ‘
3. What are the two approaches sugg*:sted in the passage to mitigate the above
|

problem? | . (1Marks)
................................................ (RPN A
| .
................................................ R ———
| |
............ |
\,
| |
| |
| |
4. Write two drawbacks of SSO authen&caﬁon. (2 Marks)
\
|
.................................................. TSRS WRPREN) P OFSTTEe
|
|
.................................................. |-.------.--......-----......o.......-...-...........-
|
............ |
| |
|
|
|
|
|
I
|
| |
|
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|
Write the main idea of the 4th paragraph? (2 Marks)
‘ |

According to the passage, is allowin[%I to recover or change a loéft password a

great solution? Give reasons for your answer. (2 Marks)
\
.................................................. deeessessssscsssssnansassansssssossspocesssevtssants
\ \
| |
-------------------------------------------------- 1!.!'lll.'ll.lllul..ll.II'IIl.ll-ll‘*l."ll-'ll.'-l-
I
............ |
| |
What is meant by biometrics? ‘l (1 Marks)
|
| .
................................................... e
|
| |
............ |
|
Write one advantage and a disadvantaFe of using biometrics. ' (1Marks)
\
.................................................... Lisissivesenasnnsnssesnssansasssisspsssasisosnnioe
‘I :
.................................................... ‘...................................."..............
|
............ \
|
|
|
|
9. Suggest a suitable title for thispassage.l‘ (2 Marks)
| .
|
.................................................... 4‘
llllllllllllllllllllllllllllllllllllllll |..-ll.ll..'l-ll-.l.'l.ll'.l..ll-ll.ll'I.Illl.llll
............ :
|
............ |
\
| .
\
|
|
|
|
\ | Page 5 of 12
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Question 02 ‘|

Rewrite these sentences in passive‘l‘voice. (15 Marks)
| |

\ .
1. The company is calling me for the %lnterview. ‘ ~

| Page 6 of 12
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8. Children must write grammatically c#)rrect sentences.

.
.
.
.
.
.
.
.
.
.
.
.
.
.

.

.
.
.
.

. —

--------------------------------------

.............

................................................... e DR R T
| |
| .
...... \ ‘
[
M |
|
\ \
|
| |
| ‘.
................................................... desesasssssesesssasssssassssssnnrecchesscnasascsene
...... | |
\
13. She has written a novel. |‘
.................................................... A B
. \ 1
...... | [
| |
| .
\ |
| |
14. I did not beat him. ‘I |
‘ |
..................................................... I...................................4-............
‘. ‘
[ |
...... | |
|
| |
| .
15. He always bullies someone. | |
\
..................................................... {
|
...... \ |
| |Page 7 of 12
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\
Question 03 1

Fill in the blanks with the correct ﬁorm of the verb given in brackets.
\ ‘.
| (15 Marks)

|
A conversation between two concerned pareflts:
\
G i PR — SO s wsmmnuind ....(read) about the accident involving two

teenagers last night? I

Bab: Y& 1(2) upisocvinsss (hear) the sports car they (3) .................. (drive)
| ‘

crashed into a lamp post. Both of them @ .................... (die) on the spot.

\
(4 [ ) [— (be) such a tragedy. They (6) ................ (be) so young.
| ‘

Ann: Yes, it (7)..c.coeveveirinnnnns (be)Itlﬁnkgo‘Yemment(S) ceeerreeeeeeeseenedens (raise)

the age of driving in near future. ‘|

BolE () omn i o T 4'| (think) that would help?

Ann: Definitely. If the age limit was raised to 21;‘ 1 [ | O —— (feel) there
would be fewer accidents. This is because young adults at that age
0 s & SRR . (be) generally more\lmature and responsible.
As a result, they are sensible enough to shdlw off their sporty cars by
driving recklessly at breakneck speeds. Fur%emore, OS] vivinwinannany AR
(not think) they would (13) .......ccouuivnnnnns lL... (take) unnecessary risks.

|
Hopefully, they would value their and the lives of the others as well.

\ |Page 8 of 12
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|

Bob: 1 guess you are right. ‘|

\

|

\
Ann: Talways (14) ...oooeniiiininiinnnnnnns (tell) my son not to drive recklessly. I know he

|
(15) seonvnssressnanraanees (not like) to listen t? this, but I continue to do so.
‘ |

|
Bob: I think that's the right thing to do. Thank you for the advice.
\

Question 04 i

|
Complete the sentences with the conl;ect form of the adjectives given.
| |

| (10 Marks)
\
eg- My brother is taller than me. (tall) |\| |
My brother is the tallest in his class. (tall) ||
1. Sashiused tOCIY .....covevvviierininiiiiinnnnns ‘} ....... her sister when she wasa baby. (loud)
2. Thisisone of .......coceeveveecennnnn mobile plﬁhones. (robust) |
3. Climbing mountains does not seem ....... jl ................ as bungee jumping. (exciting)
4. ‘This dress I8 ..sssusssmnecsnsenssnnn in the shoé’. (beautiful)
5 Iwanted.......cccoevennnnn phone in the sho;l_}. (new)
6. Thebookis ....ccoerurernrnascraraases the movi%. (exciting)
7. My Caris ....coeumeuiriinmmnnnnnne onnnnnnns yours‘l‘. (modern)
8. My dOgis ..ccuvrererummmummnninenann hers. (youjpg)
9. This yearis ....cc.ooocvrruvennenns the last yeaﬂl. (terrible)
10. She Was ..c.oenossnnsssssssanses girlin the 1‘001‘1"1. (silly)
|
l‘ Page 9 of 12




INEC

c: AMPUS
P34 Coad s

CINEC Campus
Faculty of Engineering and Technology
Department of Information Technology
BSc (Hons) in Software Engineering
IT_UGC_00L/IT_IFLS 001

Question 05

Fill in each blank with the prepositions given in the list. You may use

a preposition more than once if needed. - (10 Marks)
(in, after, since, on, at, until, before, until, from, by, to, during)
1. I am meeting my friend .............cccvvvven. T R RRPE—— the
afternoon.
2. This project should be completed ......................... next May.
3. My fatherisstil.........cccocuvurrnnaihuren the seventieth century. %He doesn’t allow
TR0 B OUY s smmnnmmnisvas . SR —— the evenizllg.
4. Our prize-giving will be held .................. 19t February .............. 2.00
p-m.
5. He will complete the report ........................... the long weekend
........................... June. |
6. My father was born ................... .... the fifth of February ..,.............. 1935.
Zv. ToAllWalk ..o cosinssssvison you finish all your work.
8. Thelecturewillbe..............cc...ei...... B0 cxviisasnais 10.00
9. He has been studying ................ Anearisas BOEE o cuvnoimias the morning
10. We Light Vesak Ianterns .......... o dhssssnssnss Vesak day
Page 10 of 12
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\
Question 06 |

| |

Mahesh and Vimesh are at college%. They are looking for their friend

Leela. Fill in the blanks using the pﬁu‘ases givenbelow. (5 Marks)
|

'l

Well, here comes..%

She may be practld‘ing.

It's a nice day. |

\
. | thought... |

\

She might be having... .
\
|

Mahesh: I can’t find Leela. Have you Seen%her?

Vimesh: She might be in the music room. ﬁl) .................................... —
\

Mahesh: No, she isn’t there. (2)............... 4| ...................... she might be with you.
|

Vimesh: (3]s sssmrmsinn R SRR |‘ ......... She may be on the lawn or

. ¢ ) TR — a coffee |Fn the canteen.

|

Badma: No, I've looked there. |‘
|

Vimesh: (] PR R T Raja.‘|He might know.

\ . Page11o0f12



CINEC Campus
Faculty of Engineering and Technology
Department of Information Technology
BSc (Hons) in Software Engineering
IT_UGC_Q0L/IT_IFLS 001
|

Question 07 ‘l

\
|
Write an official letter on behalf of the students of your
\
department/faculty to the Senior Consultant of your campus inviting
him to be the Chief Guest of the Al‘nnual Talent Show of the faculty.
l

ﬂ (15 Marks)

|
Your letter should include the following;: ‘|

\
» State strongly why you want this perso£ to be the Chief Guest.
|

¢ Give details of the function specially dailte, time and venue.

¢ Make a request on confirmation of the ﬁarﬁcipation.

Question 08 l

Write an essay on any given topic bt!eilow. Word count - (200-250)
\

| - (15 Marks)
\
e The Impact of Mass Media on Our Li#es.
|
¢ The Impact of a Global Pandemic on (Il)ur Lives.
¢ The Role of Information and Technoldgy in a Global Pandemic.
I
|
|
|
\
|
\
|
|
|
|
|
|
|
\
|
\
|
END OF THE QU};STION J 27V 3 5 [ ——
\
|
‘ Page 12 of 12
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Year ] qemester I

SEMESTER END EXAMINATION

|
Mathematics for Computing I - MA1101

e There are EIGHT (08) questions in this paper.

e This paper contains SIX (06) pages. |

e Excluding the Compulsory question—an%wer any four (04) questions.

* You may use appropriate graphs, diagrams, equation/s to prove or justify the answers.

e Ifyou haveany doubt as to the interpretation of the wording of a question, make your
own decision, but clearly state it on the d(cript.

Date: 2021.04.21 \l . Time: 03 Hour

*

| |
| (20 Marks)

Question 01: (Compulsory)

| |
I.  Let U={Positive integers}, A= {1, 3, 5,7, 9} and B= {2, 4, 6, 8, 10}. State whether
each of the following is TRUE or FALSE. - (04 Marks)

(@) 5€A |
(b)1€B |
(©)—2EU |
(dBCU |

II.  Solve the equation. | (04 Marks)

5 +x—5+3x+8_0 |
2—-x x+2 x2—4 |

III.  Ben opened his Math book and noticeri| that product of the two pages in front

of him was equal to 1122. What were the numbers of those pages? (04 Marks)

| Page1of6
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|
Find X and H in the ‘right triangle.

V.  The general term of a sequence is giy
(Prove it). Find its 15th term and the

Question 02

| (04 Marks)

ven by an=-4n + 15. Whaﬁi is the sequence?
| (04 Marks)

common difference.

| (20 Marks)

Isuri starts saving money by depositing Rs

day.

5 in her till the first day. After that, every

day, she deposits Rs. 2 more than the amov.wnt she deposited in the t111 on the previous

I.  Write, in terms of 1, an expression for S, the total amount of money in the till
at the end of the n** day , and thereby find the amount of money she deposits

in the till on the 26t day.

II.  Write, in terms of n, an expression

(04 Marks)

for Sn, the total amount of money in the till

at end of the nth day and by simplifying it , show that Sn =n {n +4).
1

(05 Marks)

Page 2 of &
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Il In order that the amount of money in the till at the end of the 30th day is
Rs.1100, Isuri deposits, from the %7th day, x rupees more than the amount
deposited on the previous day.

Show that the amount of money in the till at end of the 26th day is Rs. 780.

| .~ (06 Marks)
IV. Write down an equation in x and find the value of x by solving it.
(05 Marks)
|
Question 03 | " (20 Marks)
|

| |
The given figure is a sketch of a garden consis i g of a rectangular Part ABDE and a part
BCD in the shape of a sector of a circle with angle at the corner 45e.

Here BD =14 m. ‘

Use % for the value 11 in the following calculati(Lns.

I.  Find the area of part BCD. | (05 Marks)
| |

45

1 W

A . B

The area of the part ABDE is four times the area (Tf the part BCD.

II.  Find the length of AB. | ' (03 Marks)

Page 3 of 6
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Find the length of the arc DC. | (06 Marks)

II.
|
|
IV.  Find the perimeter of the garden. | ‘. (06 Marks)
|
|
Question 04 | (20 Marks)

L.

I1.

The prices of the entrance tickets to fm art exhibition are given below.

For an adult - 225 rupees ‘ ‘

Forachild - 150 rupees

A group consisting of adults and children has decided to attend this exhibition
together. The number of children in this group is five more than twice the
number of adults. The total cost of the entrance tickets for this group is 6525
rupees. |

. Construct a pair of simultaneous eqdahon by taking the number of adults in

this group as x and the number of cﬂﬂdren asy.
| (04 Marks)

. Solve the pair of simultaneous equations and find separately, the number of

adults and the number of children in the group.

| (06 Marks)
|
Solve the inequality 225p + 3750 < 5500 and find the maximum integral value
that p can take. | 1 (10 Marks)
| [
|
|
|
|
|
|
|
| Page 4 of 6
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Question 05 |
|

_ry 3 _[3 -5
HA“[—1 4]andB [2 1] |
|
Find the following. |
|
l
L A+B |
II. 2A+3B |
. AB |
V. Determinant of A-B |
V. Bl |
|
|
|
Question 06 !

I.  The function f is defined by i

=31 ,x2=0 \

Il -x,x<0 |
x+1,x>0 |
Draw a graph of f(x) |

|

II.  Find the domain and the range of the real function.

f(x)=—

1+x2

IT_IFLS 001

(04 Marks)
(04 Marks)
(04 Marks)
(04 Marks)
(04 Marks)

(20 Marks)

(10 Marks)

(05 Marks)

ITII.  Letf(x)=x2 and g(x)= 2x +1 be two rﬁlsal function. Find (f + g) (x) and (f g)(x).

(05 Marks)

Page 5 of 6



p

n

A

PU

e

NEC
b

Y

¥

CINEC Lampus
Faculty of Engineeﬁg and Technology

Department of Infor

ation Technology

BSc (Hons) in Software Engineering
IT_UGC_00LIT IFLS 001

Question 07

Prove the following

I. cos* A-Sin*A+1=2 cos?A

1-sin A
1I. —— —secA-tanA
1+sin A
A
TIL cose ¢ -
cotA+tanA cos A

1-tan A _  cotA-1
IV. =
1+tanA  cotA+1

1+tan2A _ SinZA
1+ cotZ A cosZ A

Question 08

(20 Marks)

' (04 Marks)

(04 Marks)

(04 Marks)

(04 Marks)

(04 Marks)

(20 Marks)

L. The third and Fifth terms of a geometric series are 5.4 and 1.944
respectively and all the terms in the series are positive.

(a) Find the common ratio
(b) Find the first term

I1. The first three terms of an arith
respectively. Find the value of x.

III.  Inand arithmetic progression the
sum of next ten terms is 1000. Fin
term.

(03 Marks)
(03 Marks)

imetic progression are 2x, x+4 and 2x-7
(06 Marks)

sum of the first ten terms|is 400 and the

d the common difference :;md the first
|

(08 Marks)

END OF THE QUESTION PAPER------=-==-------

Page 6 of 6
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Yeéarl Seimester |
SEMESTER END EXAMINATION
\

Professional I’ﬂ@ctice - GS1102

e There are EIGHT (08) questions in this ﬂ\aper.
e This paper contains three (03) pages. |
e Excluding the Compulsory question-answer any four (04) questlons

e You may use appropriate graphs, diagrams, equation/s to prove or ]ustlfy the answers.

e If you have any doubt as to the interpretation of the wording of a questlon make your
own decision, but clearly state it on the S*:l’lpt

Date: 2021.12.15 | Time: 03 Hour
L |
\
|
‘ |
Question 01: (Compulsory) " . (20 Marks)
| |
(a) Write four (04) ways using to commr*nicate with each other. | (04 Marks)
(b) List down four (04) visual aids that c%uld be used in an oral pﬁesentation.
‘ |
I‘ (04 Marks)
(c) Discuss three (03) barriers to effective listening. ' (06 Marks)
(d) Briefly explain two (02) reasons that r*nake it necessary for managers to
| |
communicate with their juniors in an \lorganization. (06 Marks)
\
|
\
Question 02 I‘ (20 Marks)
(a) Why do we use PowerPoint presentat%ons? Mention four (04) reasons.
| ' (04 Marks)
(b) List down four (04) things which you ?hould not do during an oral
presentation. (04 Marks)
(c) Briefly explain four (04) important fac*ors which presenter need to consider
when preparing for a presentation. ‘l (12 Marks)
'\
|
|
| Page10f3
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Question 03 | | (20 Marks)
(a) List four (04) behaviors/ characl%eristics expected from a cbmputing/ Ek
professional. l\ | (04 Marks)
(b) Briefly explain the role of a profe%ssional body. l‘l (04 Marks)
(c) Briefly explain four (04) sections \:}f BCS code of conduct. ‘ (12 Marks)
| |
Question 04 ‘| “ (20 Marks)
(a) What is CPD? Explain briefly. | | (08 Marks)
(b) Why do you think it is important &o manage your time as atllx undergraduate
student? Discuss at least four (04) |&reasons. l (12 Marks)
| |
||
Question 05 | (20 Marks)
(a) List six (06) characteristics of an efﬁechve group. (06 Marks)
(b) Briefly explain the two types of grcﬁups (formal groups and mformal groups)
with suitable examples. | (06 Marks)
(c) Briefly explain any four (04) stages Ff group development. | (08 Marks)
\
| |
' «.

Question 06 || (20 Marks)
(a) Write the two (02) forms of academit‘j: misconduct? (02 Marks)
(b) Briefly explain the term ”plagiarism’x with examples. (08 Marks)
(¢) Why is it important to maintain prof%zssmnal etiquette to develop leadership

and improve quality of service provuhed by an organization? ‘I (10 Marks)
‘ |
| |
| .
| |
|
| |
| Page 2 of 3
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Question 07 ‘| | (20 Marks)
| |

(a) What is cross-cultural communica\tion? Why is it important? (10 Marks)

(b) Briefly explain five (05) ways to injrprove cross-cultural communication.
|

\| | (10 Marks)
| i
| |
Question 08 | |
| |
Write short notes on below topics I‘ (05 Marks * 4)
| !
(a) Non-verbal communication \| {
(b) Copywrite | .
(c) Low-context Culture \ |
(d) Cubsical etiquette | |
END OF THE QUESTION PAPER------- |—
1| ‘,
| |
|
‘ |
| F
‘ |
|
\
| |
|
| |
\
| |
\
| |
\
|
\
| |
\
| |
|
|
| |
|
|
|
\
|
| Page30of3

0

\/

G.<r.

~d



' = 4}
TR e e

\
|
CINE& Campus
Faculty of Engine#ring and Technology
Department of Information Technology
BSc (Hons) in Sdftware Engineering
IT_UGC_OO"I/ITHIFLSHOOI

|
Year 1 SFmester |

\
SEMESTER ENQ EXAMINATION
|
Professional P{actice - GS1102
\

|
e There are EIGHT (08) questions in this ]?aper.

e This paper contains three (03) pages. |
¢ Excluding the Compulsory question—ansﬁwer any four (04) questions.
. e You may use appropriate graphs, diagrams, equation/s to prove or justify the answers.

¢ [f you have any doubt as to the interpreta#ion of the wording of a question, make your
own decision, but clearly state it on the *ript.

Date: 2021.04.19 \ Time: 03 Hour

Question 01: (Compulsory) | (20 Marks)

(a) Write four (04) different types of non%-verbal communication methods.
|

| (04 Marks)
) (b) Discuss how communication is impoﬂtant for good relationship and effective
| |
management. | (08 Marks)
(c) Briefly explain the barriers to communication and how to overcome them in a
: |
successful way. | (08 Marks)
|
|
|
Question 02 | (20 Marks)
|
|
(a) What is a “report”? ‘l (02 Marks)
|
(b) Briefly explain the basic structure of a ﬂ‘ormal report. (08 Marks)
(c) Draft a notice with an agenda for a meeting of sports club at your university to
|
discuss on upcoming sports festival. | (10 Marks)
|
l‘ Pagelof3
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Question 03 | (20 Marks)
|
I‘|

(a) List four (04) common characterisﬁ%cs of a profession. | (04 Marks)

(b) Briefly explain the four (04) sectionlsi of BCS codes of conduct. (08 Marks)

(c) Discuss how collective bodies contr‘blling entry into a profession. (08 Marks)
| i

Question 04 | :‘. (20 Marks)
‘ |
| |

(a) What is “Time management”? ‘|‘ | (04 Marks)

(b) List down six (06) important time mélnagement factors. (06 Marks)

(c) Briefly explain how time managemeﬁ‘lt is important for an IT firm. (10 Marks)

Question 05 | (20 Marks)
|
(a) List five (05) advantages of group woﬂ(. (05 Marks)
|
(b) Briefly explain Tuckman'’s stages (05 srages) of group development.
i‘ (15 Marks)
|
" ‘
Question 06 ﬂ (20 Marks)
| |
| |
|
|
(a) What do you mean by a multi-cultural environment? (04 Marks)

|
(b) Write two (02) differences between low-context and high-context cultures.

|
| (04 Marks)

| Page 2 of 3
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(c) List four (04) importance of effectii%e multi-cultural communication.
| |

l | (04 Marks)
1 |
(d) Briefly explain four (04) factors caused for cross cultural conflictions at
| |
' workplace. ‘|‘ ' (08 Marks)
[
|
1 |
Question 07 ¥ (20 Marks
I |
| |
~ |
(a) List five (05) Etiquette rules in a buslx.ness meeting,. (05 Marks)
' (b) Briefly explain five (05) positive impiressions that you need to cultivate on you
as a professional. | | (15 Marks)
|
i \
|
|
|
i |
Question 08 | - (20 Marks)
l Write short notes on below topics ‘I‘ (05 Marks * 4)
| .
|
' (a) Secondary research "l
(b) Plagiarism ‘|
\
l ) (c) Professional Etiquette '\l
(d) Para verbal communication ‘l‘
' |
|
|
\
|
|
l |
|
|
\
[
|
I |
END OF THE QPESTION PAPER
|
l |
|
|
|
| |
\
N |
|
I‘I
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Year l‘i Semester |

SEMESTER EH&D EXAMINATION

-

Sri Lanka

I
Introduction to Computer Programming - IT1101
|

e There are EIGHT (08) questions in this ﬁ:aper.

¢ This paper contains SEVEN (07) pages. lll

¢ Excluding the Compulsory question-answer any four (04) questions.

e You may use appropriate graphs, diagrams, equation/s to prove or just:ify the answers.

e If you have any doubt as to the interpretation of the wording of a question, make your
own decision, but clearly state it on the skrlpt

Date: 2021.12.22 | Time: 03 Hour

Question 01 (Compulsory) | (20 Marks)

“A function is a group of statements that together perform a task.”
'\
|

(a) Briefly describe the difference between Rass by value” and ‘Pass by reference’.

| (06 Marks)
(b) What is the difference between a ‘Global n ariable’ and a “Local vamable’7
" ' (06 Marks)
(c) Briefly describe four (04) main parts in a function. (08 Marks)
|
|
|
\
|
|
Question 02 ﬂ (20 Marks)
~I
Write the algorithm for the given scenario usi“ng
(a) Descriptive analysis l\l (10 Marks)
(b) Pseudocode '\l (10 Marks)
‘ |
I\ ‘ Page 1 of 7
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“A student wants to create a system to convert the temperature to the Celsius value whe

n the user inputs the temperature in Fahrfenheit. The formula is: Celsius = (5.0/9) * (Fahre
nheit-32)” ’ |

|

Question 03 / | (20 Marks)
|

Write the code in C programming language to draw the given pattern.
|
* y
(a) 00000 | . (10 Marks)
11111 |
22222 |
33333 |
44444 |

3

(b) * | (10 Marks)

* % %

* % k%
* % Kk k& {
* %k k ok % ‘
* %k %k %k % ‘
* ok ok k% ‘

% ok ok ok %k

(20 Marks)

|
(a) What is the purpose of having software testing? ' (04 Marks)

| - Page 2 of 7
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(b) Briefly describe “White-box testing’ and ’Flack-box testing’. (06 Marks)
(c) Write a test plan for given scenario. | (10 Marks)

“ A simple calculator which allows entering {wo numbers with an operator." The program

y | &
should ask you to enter a number first, and then enter the operator and finally the second
|

number. According to the operator, it will c?lculate the value.”

|
Question 05 ‘ (20 Marks)

(a) Write four (04) main data types useci in C programming langﬁage. (04 Marks)
|

3

(b) What is a storage location? Briefly explain. | (06 Marks)
(c) Explain five (05) rules of making a VFriable. ‘ (10 Marks)
| |
| |
Question 06 (20 Marks)
-~ |
(a) Write the value when use following bit‘Lvise operators. | (05 Marks)
A =11011011 ‘
B=0101 0101 ‘
|
1. A"B ‘
2. B<<3 | |
3. A|B
4. A>>2 | ;
5 B&A |
|
‘ Page 3 of 7
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| \
(b) Write the outputif:a=5b=10 | ' (05 Marks) l
|
1. ++a + ++b | ; l
2. b-- + ++a | :
3. ++b-++Db | |
4. at+ - b++ | | : '
5. --b +--a | ‘|
| . \ * el
(c) Write the output if: | - (10 Marks)
1. n=5 | | I
k=n++ + n++; | '
What is the final value of n anh k? |
| F
2. x= 7,‘ ‘ [
P Ak Al '\ l
What is the final value of x an '
3. d=10;
e=--d+d++; | l
What is the final value of d an c& e? |
4. s=20 | l
d=++s+--5 ' -
5. t=08 | | ¥
=L =ta- ‘
What is the final value of t and g? l
| |
| ‘ F
|
|
| i
: |
Question 07 | (20 Marks)
| ¢ :
Find the errors in the given code. Re-write ‘the correct code and circle where you have '
corrected. | | (20 Marks)
| | Page 4 of 7
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include<stdio.h>

%
int main { \ |
int aJl.A[S].key.j.i.b.TenuT i

for(a=0:a<5 a++){
printf( Enter elemel#ts to the array™). |
scanf("%d". A[a]): | |

3 |

for(=1;j<=4j++){ |
key=A[j]: \ |
1=j-1: | |

e

while(i>=0 & A[i]<=key){ |
Afi+1] = Afi): |
i=i-1: , |
} | |
Ali+1]=key: \ |

for(b=0:b<5:b++){ | |
printf("%d \n".A [b]):\ |
}

\ } Page 5 of 7
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Question 08 | (20 Marks)

|
|
Il|
Convert the following algorithms to the code in C programming language. Use keyboard

inputs. ‘l |

(@) | | (10 Marks)

)

| L)
¥ W v
number = ' number =

number + 1 " number - 1

I | I

Print “You have | Print * You have
added a value”

\ subtracted a value”

C J

| Page 6 of 7
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(b) | (10 Marks)

0

W

00021

Start ﬂ

Bounces =0 '

i

Ball_Height = 10 |
I

Ball_Height
>10

"
True y | Print number
1| of Bounces
Increment |

Bounce by 1 |
Y |

Ball_Height = Ball_Height * 0.8 |,

1)

/ Print Ball_Height / |
J |

|
_END OF THE ﬂIQUESHON PAPER

Page 7 of 7
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Year1 Se‘;mester I
SEMESTER END lEEXAMINATION
Introduction to Compute‘p Programming - IT1101

|

|

|
e There are EIGHT (08) questions in this paper.
e This paper contains FIVE (05) pages. |
¢ Excluding the Compulsory question—ansvdler any four (04) questions.

You may use appropriate graphs, diagramsr equation/s to prove or justify the answers.

If you have any doubt as to the mterpretatlpn of the wording of a question, make your
own decision, but clearly state it on the schpt

Date: 2021.04.20 ‘l ‘Time: 03 Hour

-—s = G 0 O O 0D BN O D D OB D BN D B S b N e =

Question 01: (Compulsory) " (20 Marks)

Programming is the preparation of a sequence of knstructxons for a given problem that details
exactly how a computer must proceed to solve a groblem A program is defined as a complete

set of instructions. To write a program we can usé a programming language

(a) What is an algorithm? Briefly explain yout answer. . (03 Marks)
|
| |
(b) Write two (02) low-level programming languages. - (02 Marks)
(c) Which generations belong to high-level laﬂguage‘? Briefly explain your answer
with suitable examples. | (15 Marks)
|
|
|
|
\
|
|
|
|
|
|
|
|
|
|
1| Page1of 5
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‘ |
Question 02 | (20 Marks)

\
(a) Write the algorithm for the given scenario using

\ ‘
‘ Pseudocode | (10 Marks)
2. Flow charts \| (10 Marks)
Create a calculator to enter two numbers (operands) and an operator from user
and according to the operator do the calculation and get thé answer. Then
display the output (answer) on the screen.
Hint: If user input + as the operator, then output is the sum of two operands.

Question 03 | (20 Marks)

(a) Briefly explain, “What an array is”. \ (02 Marks)

(b) Briefly explain the following terms. |
1. Continue statement \

2. Break statement |‘ (04 Marks)
|

(c) Briefly describe the difference between global variable and local variable. | (06 Marks)
|

(d) 1. What is the purpose of using functions? (02 Marks)
2. What are the two (02) ways use for par?meter passing? (02 Marks)
3. List down the four (04) main parts include in a function. (04 Marks)

\
i
\
|
|
|
\
|
\
|
1
|
‘ Page 2 of 5
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Question 04 | (20 Marks)

Write the code in C programming language to d*aw the given pattern.

(a) 54321 |
5432 |
543

54 |

5 | " (10 Marks)

* %k %k Xk ‘

(b)

* Kk K ‘ | (IOMarks)

* %k Xk % ‘

|
Question 05 | ' (20 Marks)

(a) What is “Unary Minus”? Briefly describe the answer. ' (05 Marks)
(b) Write the value when using following bih+ise operators. (05 Marks)

A = 0001 0011 |
B = 0101 1110 |

AMB |
B<<2 |
A| B |
A&B |
A<<3 ‘

sl ol ol L

\ . Page3of5
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(c) Write the outputif:a=10,b=20 (10 Marks)

1. a++ + b++

2. b—- + ++a

3. ++b-++b

4. at+ - at+

5. b +-a ’
Question 06 (20 Marks)
(a) What is ‘software testing’? Briefly desl:ribe. | (02 Marks)
(b) Write the difference between ‘validation’ and ‘verification’. (04 Marks)
(c) Briefly describe ‘White-box testing’ a:ld ‘Black-box testing’. (04 Marks)

(d) Devise a test plan with three (03) test cases for the given scenario, (10 Marks)
A simple program which will calculate the bill for customers who buy up to ten
(10) different fruits, each costing between Rs.10.00 and Rs.100.00.

Question 07 (20 Marks)
(a) Write four (04) data types use in C programming language. (04 Marks)
(b) Write six (06) reserved words in C prclg;:amming language. (06 Marks)
(c) Write five (05) rules for making a variLble in C. . (10 Marks)
Page 4 of 5
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Question 08 ‘| (20 Marks)

Find the errors in the given code. Re-write the #orrect code and circle where you have
corrected. \

#include stdio.h |
int main { \
int year; |
printf("Enter a year: "); |
scanf("%d", year); |
// leap year if perfectly visible by 400 |
if (year % 400 == 0) { |
printf("%d is a leap year.", year) |
} \
/ /not a leap year if visible by 100 \
// but not divisible by 400 |‘

else if (year % 100 == 0 {
printf("%d is not a leap year." year); ‘I

}

// leap year if not divisible by 100 ‘l
// but divisible by 4 |
else if (year % 4 ==0) { \
printf("d is a leap year.", year); |
} |
// all other years are not leap year |
else { \
printf("% is not a leap year.", year); |‘
} |

return 0; |

\
END OF THE QUESTION PAPER----===ssecec-at-
\
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Year 1 Semester I
SEMESTER END %XAMINATION

Mathematics for Coﬂrputingl - MA1101

|
e There are EIGHT (08) questions in this paper. |

e This paper contains SIX (06) pages. |

e Excluding the Compulsory question-answer any four (04) questions.
e Calculators are allowed. |
¢ You may use appropriate graphs, diagrams, equation/s to prove or jué‘tify the answers.

e If you have any doubt as to the interpretation of the wording of a que;stion, make your
own decision, but clearly state it on the script.

G 5 (3N Gy D BN OB BBy ABE D U OE D D B BE e e e e

Date: 2021.12.13 | . Time: 03 Hour
[ |
‘ ‘
Question 01: (Compulsory) | (20 Marks)
| |
a) Solve the following equations: | - (04 Marks)

I. log,(x*—3x+3)=4 | |

I 3&?-1) =27 |

b) The transfer function, G(s) , of a systeq'n is given by . (08 Marks)
1 | |
(25+1)

G(s)= 7 |
(s2+5s+2) | |
| |

Simplity 2 where Nig) 105

implify 1+G(SNG) where N(s) sl

‘ . Page 1 0of 6
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¢) Determine the partial fraction | | (08 Marks)

|

125+4x—9x2 | }
(x—1)(x+3)(x+4) | |

Question 02 | " (20 Marks)
| |
| |

a) Use the binomial theorem to expr%ss (1 + x)b as a sum of pqlwers of x.

| | (04 Marks)

|

b) Use your result to obtain an approximation to (11/10) whiﬁ;h is correct to

three decimal places. | ‘| (08 Marks)
} \
3 | |
c) Letf(x)= (pr0v1ded 2-x3#0). #how that the inverse f-unctn?n, ).is given by
2x-3)1/3 | |
F1(x) = ( - ) | . (08 Marks)
| '\
| |
. | |
Question 03 | - (20 Marks) )

a) A factory gets permission to dispos*e, at the start of every da$f, 600 kg of waste

into a stream of water. The running stream removes 40% of the any waste
1
present, by the end of the day. Determine a simplified expression for the

w
amount of waste present in the stre%m at the end of the nth day.

| i
| | (10 Marks)
| |
| |
] |

| ‘ Page 2 of 6
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|
b) Evaluate the following expression | {

| (10 Marks)

[3"3“*] |

22

n=0m=0

| |
Question 04 | (20 Marks)

| .
a) Find the sum of all positive integers, ilfrom 5 to 1555 inclusive, that are

divisible by 5. | . (04 Marks)
b) An arithmetic sequence has a its 5 t term equal to 22 and its 15? th term equal

to 62. Find its 100 th term. || :‘! (06 Marks)
c) Find the sum S defined by | . (10 Marks)

I, S8=F20.([02n) + ?2210-‘”

L S =32,3n-3) |

Question 05 ' ' (20 Marks)

\
; |. _ : ;
A landscape gardener decides that he wants to design a lawn split into a series of sectors with
| .

circular patios laid into the grass, as shown in the given figure. The circular lawn will be split

into six equal sectors, each with a radius of eight m‘;eters. The lines A and OB are both tangents
| |
to the circle, and the arc AB touches the circle ata %ingle point. '

\ Page 3 of 6
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0 ‘ i
. Work out the area of sector B.Give your answer in terms of .
| ‘ (04 Marks)
|
II. The gardener needs to calculate{ the radius of the circular patio. Using
trigonometric ratios, calculate the lradius of the patio. Give your answer as a
fraction. ‘ | (10 Marks)
| !
IIl.  Calculate the total area of grass in‘ one sector. Give your answer, in terms of
m,in its simplest form. ‘ \ (06 Marks)
Question 06 ‘ " (20 Marks)
|
| |
(@ LetY=5sin(2t + Z)Find; | |
| |
I.  Period ‘ | (02 Marks)
Il.  Phase shift(horizontal) ‘ \ (02 Marks)
II.  vertical shift ‘ | (02 Marks)
IV.  Sketch graph | (08 Marks)
|
| |
| |
‘. Page 4 of 6
|
| |
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Question 07

(b)  Determine the value of x in each o]{‘ the following cases:
\

CINE Campus '

Faculty of Engineering and Technology I
Department of Information Technology }
BSc (Hons) in Software Engineering {
IT_UGC_00/IT_IFLS_00I ‘~,

‘ \

|

1

‘| \ (20 Marks)
| |
7. 2 _(6 -1 = i
& Bekefl O H=(c .20 : 2
[
| |
. A+B l‘l } (02 Marks)
II. BC ‘| . (04 Marks)
. 3AC-2BC ‘l‘ ‘\ (04 Marks)
|
-8 1 4 | |
b) If A= %( 4 4 7| ,provethat Al =A'|, being the transpose of A. (10 Marks)
1 -8 4 ‘ l
| i
| |
| i
| |

, Page5of 6
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(@)  UseCramer’s rule to solve the system

X-2Y+ Z=3
X+ Y= =5
AN - Y+2Z=12

(b)  The mesh equations of a circuit a
i1+ 3i2+ 2i3 =13
4i1+ 4i2- 313 =3

Sirt+ i2+ 2i3=13

re given by:

|
|
|
|

-

00035

(20 Marks)

(10 Marks)

Using row-echelon form or reduced row-echelon form determine the values of i1, i2

and 1ia.

END OF THE|QUESTION PAPER

(10 Marks)

Page 6 of 6

B B0 N S S O A D BN N D D B N e e



|
CINEC *|Campus
Faculty of Engineering and Technology
Department of Information Technology
BSc (Hons) in Software Engineering

IT_UGC_00V/IT_IFLS_001
|

Yearl Serﬁester 2
\
SEMESTER END ]%XAMINATION

Database Managemex'}t Systems - [T1203
|

\
o There are EIGHT (08) questions in this paper.

e This paper contains five (05) pages. ‘|

¢ Excluding the Compulsory question—answ?r any four (04) questions.

e You may use appropriate graphs, diagrams, equation/s to prove or justify the answers.

e If you have any doubt as to the interpretatiim of the wording of a question, make your
own decision, but clearly state it on the script. '

Gll BN GEN NN BN NN BN ONN NN N ) U OGP aN AN G0 G B S ae -Em

Date: 2022.01.06 | " Time: 03 Hour
| .

Question 01: (Compulsory) | " (20 Marks)
(a) What is a DBMS? |\ (02 Marks)
(b) List two (02) examples of commercialll%i available DBMS. - (02 Marks)
(c) Name any three (03) specific benefits c#f the database approach.| (03 Marks)
(d) What is data independence? ‘| (04 Marks)
(e) Briefly explain the two types of data ir{_dependence. (04 Marks)
(f) Briefly explain the “integrity rules” ‘| (05 Marks)

‘I |
Question 02 | (20 Marks)
|‘ .
(a) What is normalization? || 'I (04 Marks)
(b) List two (02) purposes of schema normklization. . (04 Marks)
| |
| [
\
||
\ Page 1 of 5
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\
(¢) Normal forms are used to elimin%:te or reduce redundancy in database tables.

Explain three (03) normal forms q‘vith an example.
|

Question 03 l‘l | (20 Marks)

|
Convert the following ER diagram to the llrrelational model. You do not need to specify

(12 Marks)

!
the domains of attributes. State any assumption/s you made. | ,
[

Question 4 | (20 Marks)
Draw the ER diagram to model the following

real world situation. Show the entities,
attributes, relationships, cardinalities, keys, w

Alzak entities etc. wherever applicable.

You are hired by the SMART-CARDS credit-ca

| |

I |

rd company to design a database. After
conducting an analysis on the requirements, y

qu come to the following conclusions:
\ |
|

The company has two types of card holdersi A cardholder can be either a main

cardholder or a dependent cardholder. ﬂ

| Page 2 of 5
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|

A main cardholder is allowed to havej“ a maximum of 2 dependent cardholders.
A dependent cardholder must be affiliated with (i.e., sponsored or supported
by) one and only one main cardholder. .

A main cardholder has an account, ‘iwhile a dependent cardholder uses the
account of the main cardholder that hb/ she affiliates with. ‘

An account has only one main cardhqlder.

A main cardholder can have only one account with the Credit Card Company.
Accounts have unique account IDs. Each account records the balance (i.e.,
unpaid expenses) of the account. | ‘.
For main cardholders, the database records their ID#, which is unique, names,

addresses, and credit limits (i.e., the maximum amount of money they can

charge to their credit cards). | |

For dependent cardholders, the databé_se records their names and credit limits.

| |
\ |

Question 05 | - (20 Marks)
|
Consider the following instance of a relation ‘R:
SalesmanID | OfficeNo Name R(\agNo Make Office
l address
S40 O11 B.Perera | GE12345 | Toyota Colombo
S50 034 M. Opatha | HK 22334 | Nissan Nawala
S40 012 L. Giriena | AK 23431 | Mitsubishi | Malabe
593 012 K. Silva d? 55667 | Ford ' Malabe

|
The functional dependencies of R, not includipg trivial ones, are:
SalesmanlID, OfficeNo -> Name, RegNo, Make‘i, Officeaddress
OfficeNo ->Officeaddress \

RegNo -> Make |

Decompose the relation into 3NF. For each step of the decomposition procedure, state
what functional dependency it is based on, and give the relational schemas after the
step has been carried out. State the relation instance in your BNF schema

corresponding to the above instance of R. |
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Question 06 | |

The questions given below are based on'wlthe following relational schema:
|

|

BOOK (ISBN, Author_ID, Author_Name, Title, N o_Of_Copies)
STUDENT (Student_ID, Name, Address,‘l‘ Course)

LOAN (Student_ID, ISBN, Due_Date) | ",
| |

ISBN is a unique serial number for b00k5J|I |
(a) Write an SQL statement to list ISBN, title and author of all t

he books sorted by
ascending order of ISBN. |

\ [
(b) For students who borrowed more than one book, write an SQL statement to list

their student IDs and the number of books each of the

the alias of “total_books” for the number of books. (5 Marks)
|

(c) One day, the librarian finds a mistake in the view that a copy of the book

“Database Management Systems” was borrowed by students with Student_ID
“M2081223"” but actually it was borrdwed by another student with Student_ID

“M2081555”. Write an SQL query tdl correct this mistake. (Assume that book
titles are unique). ‘

| ". (5 Marks)
[ |
(d) Write an SQL statement to list the stutiient IDs of students who have all of their

borrowed books overdue. (In your SQL query, you can use Due-Date >”2-OCT-
2020” to test if a book is overdue).

| ' (6 Marks)
| |

|
Question 07 | (20 Marks)

|
Consider the following schema and specify th‘g queries in Relational Algebra.
[

Employee (eid, name, salary, address) | '

Works (eid, deptno) |
Dept (de/ptno, dname, building, mgr) |

(a) Print all department names. || - (1 Mark)

| . Pagedof5s

| I‘. (20 Marks)

| | (4 Marks)

m borrowed, and give

}

.
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| |

Cwn

|
CINEC Campus
Faculty of Engineering and Technology
Department of Information Technology
BSc (Hons) in Software Engineering '
IT_UGC_OOM|IT_IFLS_OOI |

(b) Print the names of employees worki+g at “ Administration” départ-ment.

‘ ‘ (2 Marks)
|

(c) Print names of employees working ﬁpr “Academic” departmeht whose salary
is greater than Rs. 25000. | " (4 Marks)

(d) Print the names of all managers and t*weir department’s name. | (4 Marks)
‘ |

(e) Print the names of employees who a‘lr*e working at both “Academic” and the
“Administration” departments. | |

| ; (4 Marks)
(f) Print the names of employees who are Tvorking at “Engineering” or “ Accounts”
department. | ‘ (5 Marks)
| |
Question 8 \| (20 Marks)

Define each of the following database terms ac
for each.

(a) Weak entity

*:urately and concisely. Giljve an example
‘ |
| |

(b) Schema | |

(
(d) Multi-valued attribute |
(

¢) Candidate key | ,

e) Partial key \

‘ |
I |
l
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